

SLUM REHABILITATION AUTHORITY.

Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051.

QUOTATION NOTICE FOR E-TENDER

- 1. Quotations in sealed covers are invited from the Contractors so as to reach the office of the undersigned at Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. on or before13/11/2023 upto 3.00 p.m. for the work of Rearrangement of existing gents toilet of 4th floor, C wing into part Gents and part Ladies toilet at SRA office, Admin bldg., Bandra (East), Mumbai. The estimated cost of the work is Rs. 2,79,153/- (Including GST) (Rupees Two Lakhs Seventy Nine Thousand One Hundred Fifty Three Only).
- 3. The quotations in sealed cover shall be addressed to the Executive Engineer Maint/SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai-400 051. The blank quotations can be downloaded from the tender section of SRA website www.sra.gov.in from 15/03/2024 to 22/03/2024 upto 3.00 p.m.
- 4. The quotationer shall quote in ink his percentage offer above/below or at par the estimated cost both in figures and words. The quotation should be submitted in a single sealed Envelope containing forwarding letter, quotation notice and duly filled Schedule-B and signed on each page.
- 5. The name of work for which quotations have been given should be stated clearly on the envelope containing the quotation and name of Contractor should be written on lower left of envelope.
- 6. The sealed quotation will be received by the office of Executive Engineer Maint./SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai-400 051. upto 3.00 p.m. by 22/03/2024 and will be opened at 3.30 p.m. on the same day as far as possible in the presence of the contractors/their representatives whosoever remain present at that time.
- 7. The quantities as shown in Schedule 'B' are approximate. The payment will be made as per actual quantity of work done.
- 8. The acceptance of quotation shall rest with the competent authority who reserves the right to reject any or all the quotations without assigning any reason for doing so.
- 9. The quotation submitted by the quotationer shall be binding on him for a period of 60 days from the last date of receipt of quotation.
- 10. No alternation in the form of quotation or schedule of quantities, specifications shall be entertained.
- 11. The entire work is to be completed within 7 days.
- 12. The work shall be carried out in accordance with I.S. specifications for the particular items and as per the detailed specifications mentioned in Schedule-B.
- 13. The rates quoted shall be inclusive of all taxes, Octroi Duty and free delivery at site of work and nothing extra shall be paid on any account.

- 14. The quotationer is advised to visit and examine the site of work and its surroundings before quoting the rate and acquaint themselves with the site conditions.
- 15. The contractor will have to make his/ their own arrangement at his/their cost for office and stores and safeguard the materials brought on the work and the materials issued by the department if any.
- 16. The contractor shall provide all labours, tools, pegs, watering and all other materials as required for line out and setting out the layout etc. for the work without claiming any payment.
- 17. After the completion of the work, the contractor shall remove forthwith all his/ their serviceable and un-serviceable materials from site of work and other debris shall be dumped and leveled as ordered within the scope of work if so ordered without any extra cost.
- 18. No escalation shall be paid to the contractor.

-Sd/Executive Engineer Maint./SRA,
Slum Rehabilitation Authority.
Mumbai- 400 051.

Issued	to	٠
Issucu	w	•

1/s.			
/I/S			

Copy submitted to Dy.CE/SRA for information.

Copy submitted to Secretary/SRA for information.

Copy f.w.c's to F.C/SRA for information.

Copy to A.E./SRA, for information & necessary action

Copy to Notice Board/SRA.

Copy to Information Technical Department/SRA. for publishing E-quotation notice along with Schedule-B on SRA website.

NAME OF WORK: Rearrangement of existing gents toilet of 4th floor, C wing into part Gents and part Ladies toilet at SRA office, Admin bldg., Bandra (East), Mumbai.

		:Schedule B:				
S.No.	Standard Specification	Description	Qty.	Rate	Unit	Amount
_	70	Removing urinal pans or wash hand basins with frame including	4.00	100.80	Nos.	403.20
	It. No. 46.40,	disconnecting the sanitary and water supply connections,				
	BDW, Pg No. 298,	removing the same carefully and stacking the serviceable				
	SSR 2022-23	materials as and where directed including throwing the				
2	Sr. No. 1547, SSR	Dismantling brick masonry in lime or cement mortar and	1.01	351.75	Cu.mt.	355.27
	It. No. 46.09,	stacking the materils as directed with all leads, lifts etc.				
	BDW, Pg No. 296,					
	SSR 2022-23					
ယ	Sr. No. 1557, SSR lt. No. 46.19, BDW	Sr. No. 1557, SSR Removing cement tiles, or marble or polished shahabad floor or lt. No. 46.19, BDW dado without bed concrete including stacking the materials as	20.60	47.25	Sq.mt	9/3.35
	8, Pg No. 297, SSR 2022-23	directed with all leads, lifts etc. complete				
4	Sr. No. 1552, SSR	Removing brick bat coba including stacking the spoils as	0.95	664.65	Sq.mt	631.42
	lt. No. 46.14, Pg No. 296, SSR	directed with all leads, lifts etc, complete.				
j	2022-23	A THE REST OF THE		12:0.50	100	
თ	Sr. No. 941, SSR	Providing water proof bedding for flooring of Bath and WC 25	9.46	451.50	Sq.mt	4,271.19
	It. No. 31.05, Pg	mm thick in C.M. 1:3 including using approved water proofing				
	No. 205, SSR	compound in specified proportion as per manufacturers specifications for per bag of cement including leveling, curing			1	

anchors etc. Providing internal cement plaster 20mm. thick in Single coats in cement mortar 1:3 without neeru finish, to concrete, brick surface, in all positions including scaffolding and curing etc. complete. Providing sills of required material 20mm to 25mm thick, on a bed of cement mortar 1:4 including cement float, filling joints with neat cement slurry, curing, moulding edges, polishing, cleaning complete. b) Granite Providing and fixing machine cut mirror polished 18 mm to 20 mm thick telephone black / Amba White / Cat bary brown / RBI red / Ocean Brown granite stone partition with full moulding the edges etc. complete. One side polish Providing and laying vitrified mirror / glossy finish tiles decorative type having size 590 mm to 605 mm x 590 mm to 6
A
bs for fixing hold fast, thick in Single coats in ish, to concrete, brick folding and curing etc.
bs for fixing hold fast, thick in Single coats in ish, to concrete, brick folding and curing etc.
bs for fixing hold fast, thick in Single coats in ish, to concrete, brick folding and curing etc.
bs for fixing hold fast, thick in Single coats in ish, to concrete, brick
bs for fixing hold fast, thick in Single coats in
bs for fixing hold fast,
sina 12mm down size
specifications & directions of Engineer-in Charge. Cost shall be inclusive of filling the Blocks with Cement mortar at exposed
ight, complete as per
t of materials, labour
1:3:6 Mix Concrete along with Nominal Reinforcement to be
of 100mm thick with
ortar joint thickness) At
100mm x 200mm (12.5
n of 15%, with cement
n 35Kilogram/Sq.cm, U
Horizontally perforated clay hollow blocks of approved make
Providing and constructing non load bearing wall with 100mm

		_
13	12	
Sr. No. 1241, SSR It. No. 39.48, BDT, Pg No.256, SSR 2022-23	Sr. No. 1114, SSR It. No. 36.21, BDP, Pg No.229, SSR 2022-23	Sr. No. 1028, SSR It. No. 33.41, BDL 12, Pg No.217, SSR 2022-23
Providing and fixing 34 mm thick moulded door shutter consisting of solid core single leaf flush door of 30 mm thickness lipped with 15 mm (5mm x 3) thick x 30 mm width on one style and top rail and 10 mm (5mm x 2) thick x 30 mm width on other style and bottom rails. The inner panels laminated with 2 mm thick termite proof, water proof and fire resistant moulded PVC sheet with 2,4,6 design in different plain and /or prelim colours on one side after routing the moulded design on flush doors and 2 mm plain and /or pre lam PVC on other side using rubber adhesive on flush door and solvent cement adhesive on the PVC lipping etc. as per direction of Engineer in charge and manufacturers specification and drawing etc. complete.	Providing and applying Royale Luxury Emulsion of approved make on internal wall surface as detailed below Scrapping for surface with emery paper and wipe clean for area. wall primer with brush by adding mineral turpentine oil by 8 to 10 % or water by 15 to 20% allowing to dry for 6 to 8 hoursAfter applying acrylic wall putty with appropriate proportion of water of allow to dry for period of 4 to 6 hours of activity. Scrapping with emery paper and wipe clean Applying paints Royale Luxury emulsion1st coat with brush water content water 40 to 45% or 65 to 70% by role Applying paints Royale luxury emulsion 2nd coat with brush with water content 40 to 45% or 65 to 70 % by roller. (With prior approval of S.E.)	Providing and laying vitrified mirror / glossy finish tiles having size 590 mm to 605 mm x 590 mm to 605 mm of 8 to 10 mm thickness and confirming to IS. 15622-2006 (group Bla) of approved make, shade and pattern for dado and skirting in required position fixed in 1:4 cement mortar including neat cement float, filling joints, curing and clearing etc. complete
3.36	13.09	9.46
7789.95	288.75	1314.60
Sq.mt	Sq.mt	Sq.mt
26,174.23	3,779.74	12,436.12

				2	23	
				including complete.	It. No. 42.62, Pg No.281, SSR 2022-	
4,898.25	Rmt.	326.55	15.00		Sr. No. 1433, SSR	19
				stacking the same in PWD chowky or as directed etc. complete.	į	
				removing existing pipe line if necessary and conveying and	23	þ
	ľ				No 276, SSR 2022-	
3, 180.30	KIIIL	316.05	10.00	fittings such as bends, tees, reducers, clamps, etc. including	Sr. No. 1396, SSR	18
3 100 60				stacking the same in PWD chowky or as directed etc. complete.	23	
					It. No. 42.27, Pg No.276, SSR 2022-	let.
4,525.50	Rmt.	452.55	10.00		Sr. No. 1398, SSR	17
				soil pipe, lead trap & soil pipe connection upto the outside face of wall etc complete.		
				stop tap, brackets for fixing the cistern, 32mm diameter P.V.C.	23	
				valve for urinal with complete kit having fittings, inlet pipe with	No 316 SSR 2022-	
	Q.	19303.73	2.00	Providing and fixing white glazed urinal of size	Sr. No. 1659, SSR	16
39 007 50	3			bottle trap of having necessary pipe connections up to the outside face of the wall etc complete.	23	
		ľ	ľ	0x575x190mm of approved make half pedestal, pillar cock, C.P.Angular stop cock, long thread continental including S.S.	1	
37,827.30	Sq.mt	18913.65	2.00	Providing and fixing wall-hung white wash basin of size	Sr. No. 1661, SSR	5
				100mm dia C.I. plug bend inlet pipe all fittings,cutting & making good walls, floors etc. complete.		
				wall hung WC, with approved make square control plates including soil pipe, vent pipe upto the outside face of wall,	23	
	a a			350mm x 355mm x 570 mm concealed flush tank with floor-	It. No. 48.41, Pg	
31,969.33	Sq.mt	31969.35	1.00	Providing and fixing white european type wall-hung pan, of size	Sr. No. 1657, SSR	14

Say Rs. 2,79,153.06	Say Rs.					
2,79,153.26	Grand Total Rs.	Grand				
21,291.35	Add 9% SGST	Add 9				
21,291.35	Add 9% CGST	Add 9				
2,36,570.56	Total Rs.					
3,838.00	Nos.	1919.00	2.00	30, Pg. Providing and fixing 600x450 mm bevelled edge mirror of CGM, superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers complete.	R3-CS-PS-30, Pg. No. 168, MCGM, SOR Bldg. 2023	22
2,425.50	Nos.	808.50	3.00	SSR Providing and fixing 15 mm diameter PVC Aqua kraft type of approved make super jet spray with flange 2 in 1 faucet 1.50 metre long including all accessories etc complete	Sr. No.1510, SSR It. No.43.39, Pg No. 292, SSR 2022-23	21
2,398.20	Sq.mt	599.55	4.00	Sr. No. 1489, SSR Providing and fixing 15 cm rigid PVC Nahani trap including PVC It. No. 43.18, Pg grating ,bend,connectingpiece of UPVC pipe up to the outside No.288, SSR 2022-face of wall ,making the good damaged surface and testing etc. complete (Prior approval of sample and brand by Ex. Engr. is necessary before use)	Sr. No. 1489, SS It. No. 43.18, Pg No.288, SSR 20: 23	20

(Rupees in word :- Two Lakh Seventy Nine Thousand One Hundred Fifty Three Only)

Therefore, the	
amount (in	I/We here
figure)	by agree
	o quote
(in words)	% Above/Below or At par with the estimated cost put to the tende

Contrscters Signature

Executive Engineer (Maint.)/SRA